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- 6K A1-5-



B =0,
O}’= \\!\/pc v
1.0+0.6=

{a) 20day (H=2m)

(b) 30day (H=3m)

e
T T e e 3 2 LA SE
LT i iy R YRR
e e . N
' YA
(¢} 40day (H=4m)
= T A i O I P e e
i d . o __" ( I‘.“ ' = .;.i._l{..l.
e e S a

(d) 50day (H&IE 10day %)

(e) 100day (B 50day %)

fHRR-A1. 6 ®ex36f : 6/=1.040.6z, pz)=34(0m<z<-4m)}, p2)=0,(2) (z<-4m)

- {8 A1-6 -

™



(a) 20day (H=2m)}

(b) 30day (H=3m)

J i il 0 IJ_C‘ =
.':;:‘:' 4 iz zenas
e
R4 1 N e
LY
(c) 40day (H=4m)
bt e eI m T B b
1 e e o e e e e B L
i L o B R
Ly CTEHT T
L W L 1y
\ i

(d) 50day (A%E 10day %)

{TEREI-A1. 7 Dex36g : 6,/=2.0+0.6z, pdz)= 0. () (z<0m)

- AT -




Yok
Y

YA\

IHERY

g i HL

(e) 100day (& 50day %)

i

LAY

il

il e e

(f) 300day (FXE 250day %)

[
)

il

L

L

Eid

EEEEEEE YR

¥

A3 a2

(]

E IR A

RERE

]

(g) 1000day

g leaibend
il eibendocdoact—
1 ]
i) IR
NY RS o ot
i ]
T
HEA® |
H ¥ .il'lll
i H I R
MK R S R G o e A .
i I i I B ey
¥ \ M e e
H - L]
L E [ R
1 ="}
= ——
[4-t=x ] =
T -
el =1
P W, o ) O B
-1 =t
e [
hE = 1T ==t
m A
T | b L il
o
U ] I e e
B
i W 1 ey
' s ] I B o
+ F-s L]
1 L™ i
r T,
) B I 2O s SO
€ o] - —
! i A
1 ] 1 e —
! T bl S
oy =1 —
Sl ify =3
hall = Ly
i Tyt e et o o ol
o ¥ gl B =2 SR,
........ ) P e
o ol BT
[t ot
W o ey i oedocad
" L T ot i i N
- N R RN
=== -1

{(h) 5000day

G/(2) (z<0m)

183E-A1. 7 Dex36g : 6,/=2.0+0.6z, pLz)
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{FEREI-AT. 8 ®ex36h : 6,/=2.0+0.6z, pz)=32 (0m<z<2m), pdz)=cy(z) (z<2m)
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